Emodin

( )Emodin
1
(1) Emodin
emodin tetraglycol/PEG400(1:1)
20mg/mL  emodin emodin

(2)
125 nb (100 mg/mL) 20 mL

0.625 mg/mL

(1)
Sprague-Dawley 1 280 ~ 400
g 12
(2)
(n=5)
(1.25 mg/kg) tetraglycol/PEG400(1:1) (2 mL/kg) (n=6)
(L.25mg/kg) emodin (40 mg/kg)

20 40 60 180 300 540
0.3 mL EDTA

)



0.0 100.0 250.0 500.0 1000.0 1500.0 ng/mL
(Cyclosporine Monoclonal Whole Blood Calibrators)

(Cyclosporine Monoclonal Whole Blood
Controls) 150 pL 50 pL Solubilization
Reagent 300 pL Whole Blood Precipitation Reagent/Probe Wash

10 (9,860 g)5 TDxFLx
Analyzer
2
(Polarization Error PERR)
-200 +2.00 (Root Mean Square Error RM SE)
1.00
Cyclosporine concentration
(ng/mL)
120.00-180.00
340.00-460.00
680.00-920.00
3
150 pL 50 pL Solubilization Reagent 300 pL
Whole Blood Precipitation Reagent/Probe Wash 10



(

)

)

2)

(9,860 g)5 TDxFLx Analyzer
(Fluorescence Polarization Immuno Assay, FPIA)

WINNONLIN® noncompartment mode!
SPSS® unpaired Student’ s t-test
(p<0.05)
20 g 400 mL 15
80 mL 80 mL
0.25 g/mL
20 g 400 mL 15
80 mL 80 mL
0.25 g/mL

doe-emodin rhein emodin  chrysophanol
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(1)
Sprague-Dawley 1 200~ 360

g 12
2
(n=5)
(0.25 g/kg) (2.5 mg/kg) (n=6)
(2 gkg) (25 mg/kg)
4,
20 40 60 180 300 540
03 mL EDTA
4
S.
()
6.
WINNONLIN®
noncompartment model SPSS®
paired Student's t-test (p<0.05)
()
1
()
2.



(1)
Sprague-Dawley 7 200~305¢g

(2)

(0.25 g/kg)
(0.8 mg/kg)
(0.8 mg/kg)
3.
5 10 20 40 60 180 300 540
03 mL EDTA
4
4.
()
5.
WINNONLIN®
(IV bolus 2 compartment model) SPSS® paired

Student's t-test (p<0.05)
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emodin  P-glycoprotein
()
Sprague-Dawley 15 225~ 260 g 8
~12 1~2
5cm 5cm

30 cm

50 mL medium 199

0.25 mL 50 mL medium 199 mL
025 g 2.0 mL 50 mL
medium 199 ( mL 025¢ )
0.5 mLtetraglycol/PEG400(1:1) 50 mL
medium 199 0.5 mLemodin 50 mL
medium 199 37
( BS%O, 5%C0O) 20

rhodamine 123 3mL (20.0 ng/mL)

0.8 mL
rhodamine 123 20 40 60 80 100
1.5mL



Rhodamine 123
Rhodamine 123 (200.0 ng/mL) medium 199
16 08 04 0.2 01 005 0025 00125ny/mL 8

485 nm 546 nm
Rhodamine 123
Rhodamine 123
SPSS® unpaired Student’ s ttest
Rhodamine 123

(p<0.05)
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